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1. #H e 6 gl § @A o vt =t 4. If2 gl x2 + kx+ 1= 0% ol & €= &
U TG S ¥ EH FEd § 6 S x, y Th- I ged: V5 A FA T, Wl k|22 %, 9 k
T A grEfd § 9 e 9 oGl A T | fopg fqUe 1 RIS EEd B wRAl 87
fad gen o) el # | SH-w1 e 27

(@) (-3, -2]V[2, 3
(@) TE T TH god T B

(b) mmﬁmﬂ‘:ﬁ'%,%ma Bl 55

MQ MTETE NSyVS o
G 8 ) [-3,-2]u2, 3]
(c) ¥ "y wufa TE 7, Af wEged | (@) = R

HHHS B

(d) T8 G ST TR 3, S wged |

BLIECR 5. ¢ @l x2 + px +q= 0% Hel I AT
@ 2 S g x2 + L+ m =0 g H
2, @ Fr=fafas 7 & S9-w wd 77
2. uH efifs f& '
A=(l, 2,34, 56,789 10 (@ p2m=12g
2, @ A % syEg=Er H we, e € de ) 5
Iy B, 127 (b) m“p=1°q
(@) 45 € m?p=q°l
(b) 120 (d) m2p2:12q
(c) 165
(d) 330 . i
& (fnz\/ﬁJ J{—lfz\/ﬁJ @l on, 3
g 2 2
G 70 st byt B @i, S D= Tftre =€ B 3R i = V=18, 1 AH w0 R
2, 1 O w87
(a) 1
(@) O
b 1 {B) =i
(c) i o
(@) —i @l =1
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1. Let S be the set of all persons living in
Delhi. We say that x, yin S are related
if they were born in Delhi on the
same day. Which one of the following is
correct?

(a) The relation is an equivalent
relation

(b} The relation is not reflexive but it is
symmetric and transitive

(c) The relation is not symmetric but it
is reflexive and transitive

(d) The relation is not transitive but it
is reflexive and symmetric

2. LetA={1,2,3,4,5,6,7,8,9, 10}. Then
the number of subsets of A containing
two or three elements is

(@) 45
(b) 120
(c) 165
(d) 330

3. The value of i2" +i2n+1 2n+2 4 ;2n+3
where i = /-1, is

2

(@ 0
(b) 1
(¢) i
(@ -i
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4. If the difference between the roots of the

equation x%2 +kx+1=0 is strictly less
than /5, where |k |22, then k can be
any element of the interval

(@) (=3, =21U[2, 3

(b) (-3, 3

(c) [-3,-2]u2, 3

(d) None of the above

5. If the roots of the equation x2 + px+qg=0

are in the same ratio as those of the
equation x? +Ilx+m = 0, then which

one of the following is correct?
(@) p?m=13%g
(b) m?p=12g
() m?p=q?

(d) m2p2 — ng

6. The value of

T8 R" L[-L1-i3 "
)

where n is not a multiple of 3 and

i=+-1, is

(@ 1
(b) -1
(¢) i
(d) —i

[ P.T.O.



7. %% 1, 2 9 3 ¥ dH-7hE & 3 YHR

o TS § TR 3 ey T8 MY B W WK
H -2 gematl o A e St 27

(@ 1233
(b) 1322
(€ 1323

(d) 1332

8. 3% 0.3+0-33+0-333+... % n TSl H I

Topereh e 37

(@)

| =
=
|
O =
—
—
|
p—
Q| =
=
SO
. |

(b) % :n—g(l— 1

|
o i)
|

(d) %[n_l(l+ L

AR, o, 0? T (FFR) F wE E, @
1+ o)1+ 0?)(1+ o)1+ 0+ 0?)
Tereeh R 87

(@ =2

(b) -1

() O

(d) 2
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11. GR g

10. IRt wh GHiR Aofi (AP) F m & FAMT nR A

nqﬁ'ﬁﬁ’mm%,?ﬁ(m+n)q?ﬁw?fm
Toreeh e &7

(a) ' mn
(b) m+n
() 2(m+n)

(d) —(m+n)

1+2i
O B
&, SHU:

% WM 9 &I HIUITH

@ 1,0
(b) 1,1
) 2,0

d 2,1

12. 3% T FEda agoe 1 sTerd Trguid: x-31

% S ferd 3, @ frafafea # @ s@-a1 9
87

(@) < TR B
(b) T TS AEdieh o TH Wi
(c) T & I | ©

(d) &1 TEl ST Hehdll



7. Three-digit numbers are formed from the
digits 1, 2 and 3 in such a way that the
digits are not repeated. What is the sum

of such three-digit numbers?

(@ 1233
(b) 1322
(c) 1323
(d) 1332

8. What is the sum of the series

(@)

(b)

()

(d)

0-3+0:-33+0:333 +... n terms?

P 1( 1 )
—|ln-= 1_.
3|l 9 16™ ;|

| =
=

|

W=
e e
LE

|
it
O | =
=
=

9. If 1, 0, ®® are the cube roots of unity,

then (1+w)(1+0?)(1+0%)(1+0+0?) is

equal to

(@)
(b)

-2

=1

10. If the sum of m terms of an AP is n and
the sum of n terms is m, then the sum of
(m+n) terms is

(@) mn
(b) m+n
(c) 2(m+n)

(d) —(m+n)

11. The modulus and principal argument of
the complex number

1+2¢
1-(1-1)2

are respectively

(@ 1,0
() 1,1
) 2,0

(d) 2,1

12. If the graph of a quadratic polynomial lies
entirely above x-axis, then which one of
the following is correct?

(a) Both the roots are real

(b) One root is real and the other is
complex

€ O

d 2
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(c)
(d)

Both the roots are complex

Cannot say

[ P.T.O.



13. AR |z+4 |<3 %, @ |z+1| F Afeekan 74 16. GHE x2 + bx+c=0 (& b 3N ¢ X
w77 B) % Tl 1 I A6 I b oAl h AT
W%,a%,b,gfﬂauﬁﬁ%?

(@ O
(b) 4 (a) AP
c) 6 (b) GP
(d 10 (c) HP
(d) I T FE T
14, G 22 = 2z & A G e 87
(@) 2 17. G0 ax? + x+c=0 (&l a IR ¢ YR
) % Tl =1 A Ik ol % YeHAT b A
(b) 3 TR B, A a, ca?, c2 frg ool 7 87
7, (@) AP
(@ =3 (b) GP
(c) HP
15. I gfe x2 +bx+c=0, & b#0, %
Hd coto 9 cotf g, @ cot (o +p) Traes (d) @ﬂ?ﬁﬁ@lﬁﬁqﬁ
SE BT
(@) _C% 18. [C(7, O)+C(7, 1] +[C(7, 1)+ C(7, 2)]
+...+[C(7, )+ C(7, T)]
= forger aUeT &7
b
(@) 254
b
(g = (b) 255
(c) 256
b
% Tp (d) 257
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13. If |z+4|< 3, then the maximum value of 16. The sum of the roots of the equation
|z + 1] is x%2+bx+c=0 (where b and c are
non-zero) is equal to the sum of the
(@) 0O reciprocals of their squares. Then
1 c :
=, b, 5 are in
(b) 4
(a) AP
(c) 6
(b) GP
(d) 10 |
{c) HP

14. The number of roots of the equation (g Diome: ot the) ey

z% =2% is
17. The sum of the roots of the equation

(@ 2 ax? +x+c=0 (where a and c¢ are

non-zero) is equal to the sum of the
5 reciprocals of their squares. Then
(b) a, caz, c? are in
(c) 4 (a) AP
(d) zero (b) GP

(c) HP

15. If cota and cotf are the roots of the
equation x? + bx +c = 0 with b # 0, then (@)
the value of cot (o +p) is

None of the above

18. The value of

0
|
—

@ = [C(7, 0)+C(7, )] +[C(7, J+ C(7, 2]
+..+[C(7, 6)+C(7, 7)]
(b) % s
{fa) 254
2
] (b) 255
(c) 256
l-c (d) 257

GRS-S-FDE/70A 7 [ P.T.O.



19. =% ‘EQUATION’ % 9uii ¥ <H1T 5T Hehel a1 22. Ioff

maﬁ%ﬁ&am&a‘iﬁé@nwﬁﬂ 1,8,7.15
T A 9 379 T =H9H A g 87 2 4 8 16
| F YUH n 921 1 AT REE SeR 27
(@) 5200
(@) 2" -n-1
(b) 4320 (b) 1-27"
(¢) 3000 O
{H) 9% =4
(d) 2160
23. Tg=El A9 B % grry 3 fefafad wfaem
HIfT
20. n T H Th GEER AU (AP), TR AW 1. (A-B)juB=A
n? —on %, % dfeat ge R e 87 2. (A-B)JUA=A
3. (A-B)nB=¢
(@) 5 4, AcB=AuUB=B
It § ¥ HHA-Y TR 87
(b) 7
(@ 1,2 33
(c) & (b) 2,3 3R 4
(d) 15 c) 1,334
(d 1,2 3R 4
21. a-3iF gt oy demedt = A R st 24, e fg-amurd wrfieo
27 (1p101), +(10g1), = (1007 00),
2475 aﬁp,qarﬁ-muﬁw%,ﬁp,qaﬁtr
b e
(b) 2530 (@ 0,1,0
b 1,1,0
(c) 4905
() 0,0,1
(d) 5049 {dr 1,0, 1
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19. The number of different words (eight- 22. The sum of the first n terms of the series
letter words) ending and beginning with
a consonant which can be made out of Pl ik e s

the letters of the word ‘EQUATION’ is
is equal to

(a) 5200 fa) 2" —n-1
(b) 1-27"
(b) 4320
fcg 27" +n-1
(c) 3000 (@ 2" -1
(d) 2160 23. Consider the following in respect of sets
Aand B:
: 1. (A-BjuB=A
20. The f{ifth term of an AP of n terms, 2. (A-BJUA=A
whose sum is n? - 2n, is . 3. ‘(A—B)FNB:(I)
4. AcB=AuB=B
(@) S
Which of the above are correct?
(b) 7 (@ 1,2 and 3
(b) 2, 3 and 4
(c) 8
(c) 1, 3 and 4
(d) 15 (d 1,2 and 4
24. In the binary equation
21. T.he sum of all the two-digit odd numbers (1p101), +(10g1), = (1007 00),
is
where p, g and r are binary digits, what
are the possible values of p, g and r
(@) 2475 respectively?
(b) 2530 (@) 0,1,0
(b)) 1,1,0
(c) 4905
(g 0,0,1
(d) 5049 (d 1,0,1
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25. A S={x:x2 +1=0, x IEATH B, @ S 28. IR B UH Yorwollg =gy ® IR A TH F

oy T 27 AR B, M det (B AB) &1 WH ToFgsh stk
0
(@) 1}
(a) det(B)
(b) 10}
(b) det(A)
fc) {1
(¢) det (B
(d) W R g
(d) det(A7)

26. (x-y)", n>5 F TER x F GG F NG
(;qégmr:m%wﬁﬁ;aw%qamw 29. I azbzc § W x T T T AW, A

T 2, @ X frh e 27
Y

(@) E—éé x+b x+c O
%! HJE A ¢, Fheh SRR 27
n-4
b =5~ (@ a
(b)) b
5
B g (© c
(d) 0
6
® &
30. 3f
| cosa sin o
o 2 _{—sina cosa}
27. AR A:[z a] 3R det(A%)=125 %,
®, @ AAT fros iR & (S®P AT, A =
al o Toraes SR 27 qitEd 2)7
&l (@) T[A IR
(b) *+2 (b) TcEHE g
(c) *£3 (c) A
(d +5 [d -A
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25. If S={x: x2 +1=0, x is real}, then S is 28. If B is a non-singular matrix and A is
a square matrix, then the value of

-1 :
(@ (-1} det (B"*AB) is equal to
(b) (0] (@) det(B)
b) det(A
(c) det(BY)
(d) an empty set
(d) det(A™h)
26. The expansion of (x —y)", n>5 is done
in the descending powers of x. If the 29. If a# b #c, then one value of x which
sum of the fifth and sixth terms is zero, satisfies the equation
%
then g is equal to 6 gesd %l
x+a 0 x-c|=0
n-5 x+b x+c 0
& =%
is given by
~
) (@ a
(b) g
(b) b
5
© — @ c
(@ O
6
() ——
n->5
30. If .

A coso sinda
" | —sina coso
then what is AAT equal to (where AT is
the transpose of A)?

2 o

then o is equal to

o 2 3
27. If A= and det(AY) =125,

A (@) Null matrix
(b) +2 (b) Identity matrix
(c) +3 c) A

(@ +5 (d -A

GRS-S-FDE/70A 11 ['P.T.0:



31. Hiwm
x+2y+3z=1
2x+y+3z=2
Sx+ 5y+9z =4

forar wep % 27
(a) T AlGAE & 8

(b) T IAd: FH B ©

(c) 3 FETE T

(d) 39w A 4 g T

x+ty Yy 3 4
o[22 L] o e

21l AB=C®, @ A? g ausr 27

4 8
% |-g —16}
[+ -4
LB —16]

el 8
@ |a 12]
" -4 -8
@ | 8 12}

33. "R (feeffie)

1 1 1
1 1+xyz 1

1 1 1+ xyz
Torereh sITeR 27

fa) 1+x+y+z
(b) 2xyz
(c) x2y222

(d) 2x2y222

GRS-S-FDE/70A
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34. 9fg

Il
)

%« O

@ O =
o & .

2, @) Preafafad § 3 F-ar @ 27
(@) fy—,ﬁé%wﬁiﬁﬁ@%
(b) x, TS ST H W TH B
(c) y, 3H1E % S H ¥ TH @

(d) X, -1 % et 4w R
y

35. ®IfE (3ATEX) 3x3 F @l arreggl, R

yiafsal Fae 0 3@l 1 8, % U= A |
forem #ifsw| g &fifse 6 B, A &1 T T
g @ fred 9 wfi sty § R
Fafert =1 7 1 %) ww g 5 ¢, A
T T ST @ e wfi aTeEl %
gt w1 A -1 ®, @ Fefafaa & @
HI-T1 T 7

(@) CT%
() BT 3a7 & fawa g, A 76 ¢ A
(c) A=BuC

(d) BH, CH dH T 94 @



31. The equations
x+2y+3z=1
2x+y+3z=2

Sx+5y+9z=4

fa) have the unique solution
{b) have infinitely many solutions
fc) are inconsistent

(d) None of the above

3 4
32. A= xry ¥ . Bi= and C = s
x x-y -2 -2

If AB= C, then what is A% equal to?

(4 8
@ | _4 ~16}
4 -4
®) g —16]
Py i
el | 4 12}
-4 -8
@ g 12}

33. What is the value of the determinant

1 1 1
1 14 xyz 1 ?
1 1 1+ xyz

fa) 1+x+y+z
(b) 2xyz
(c) x2y2z2

(d) 2x2 y222

GRS-S-FDE/70A

13

x y O

34. If [0 x y|=0, then which one of the

y-0 %

following is correct?

(a) % is one of the cube roots of unity
y

(b) x is one of the cube roots of unity

(c) yis one of the cube roots of unity

(d) % is one of the cube roots of —1
Yy

Consider the set A of all matrices of order

3 x 3 with entries 0 or 1 only. Let B be
the subset of A consisting of all matrices
whose determinant is 1. Let C be the
subset of A consisting of all matrices
whose determinant is —1. Then which
one of the following is correct?

{a) VC is empty

{b) B has as many elements as C

fc) A=BuC

(d) Bhas thrice as many elements as C

[ P.T.O.



36. Af A:{Cosa Sine} g, @ A% fros

-sin® cosH

TR &7
" cos 36 sin 36
(&) ' —~sin 36 cos 36
(b) H cos® @ sin® 0 i
| —sin® 6 cos® 6
"cos 30 -sin 36
(c) | sin 30 cos 36

(d) {cos3 ® -sin® B}

sin® ® cos® @

a h g||l x
37. [x y2l|h b f|ly]| @ =R ()
Lg f ¢l =
w1 87
fa) 3x1
(b) 1x1
(c) 1x3
(d) 3x3
38, aRa=| 1|3 @ At @ ww
38 A_Ll OJ g, &
1 O] b 1 17
(@l 0 1) (b) 0 0]
[0 O] d E 17
fc) L ® (d) 1 0]

GRS-S-FDE/70A
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39, aﬁsinAzg%,aﬁ450°<A<540° ?,

cos%ﬁﬁﬂ%ﬁ'{lﬁt%?

1

fa) ﬁ
3
(b) —\jﬁ
V3
© 1o
(d) 39 A | g T

L B oy e 27

" sin 10° cos 10°

(@ O

(b) 1

c) 2

(d) 4

41. 100 m 9% % T TH-TaFr & 39 ¥ Th

A H AT tan_l(%) HIEICEE L
ThTRI-TAR % S <l gt FeRt 87

(@) 120 m

(b) 180 m

(¢ 240 m

(d) 360 m



36. If A= s then what is 39. If sin A= é, where 450°< A < 540°, then
—sin® cosb |’ 5
A% equal to? cosg— is equal to
(@ [ cos 36 sinse} 1
a ; )
| —sin 306 cos 36 (@) J10
B 3 .3
cos® B sin” O 3
b (b) —\|—=
(b) i —sin® 6 cos® B} 10
[cos 36 -sin 36 {C) \[5
(©) | sin 30 cos 30 _ v10
- FasdB . wai® @ (d) None of the above
i sin® 0 cos® 6
40. What is — I~ V3 equal to?
sin 10° cos 10°
37. What is the order of
a h gl|| x @ O
X zl|l h b ?
[x y 2] Flly ) 1
g f c z
c) 2
fa) 3x1 (c)
(b) 1x1 (@ 4
{c) 1x3

41. From the top of a lighthouse, 100 m
({d 3x3 high, the angle of depression of a boat

is tan 1 (1_52j What is the distance

38. If A= [ D 1] then the value of A? is between the boat and the lighthouse?
1 o
(@) 120 m
1 i [ 0
@ |0 1 B o (b) 180 m
. - - E fc) 240 m
o 59 @],
(&
(1 1] |1 0] (d) 360 m

GRS-S-FDE/70A 15 [ P.T.O.



42. sin [x+gj+cos [x +-g) &1 Afteras A, 46. tan 18° fohueh s 77

(O,Ej%mﬁ,mﬁaﬁﬁmﬁm%? (@) _¥5-1
2 10+2+/5
(@ = ) % , 51
& V10+4/5
© 3 @ -
© J10+2V5
J5-1
43. gfe K=sin[17;J sin (%) sin (%) %,
10++/5
@ K PR iR 37 @) —=3
i 1
(@) 5 (b) oy
(© 1 () 1 47.1TF1'€'|||\3Q1%x, y,zﬂ:m lEIT{-?'lﬁE o
8 16 W UK & 6 9 GP # % 3 tanlyx,
tan_.ly A4 tan"lz @ AP H %, a
a4, s SING+sin — Frfafaa @ -1 wd 27
cosc. +cosp ' =
(@ x=y=z
(@) tan(a‘?j) (b) xz-=
{c) x#yﬁ?y=z
o+p
® COt[ 2 J (d) x=y3AR y=z
. (o +PB
e Sm( 2 ) 48. AR tan(@ +p)=2 3R tan@-P) =18, @

tan (o) ToFea s=R 37

(d) cos (oc . B]

2 (@) -3
(b) -2
45, If% sin® = 3sin (0 + 2a) %, ar
tan (0 + o) + 2 tano. 1 HH fHee SR 87 . 1
c ——
(@ -1 (b) 0 2
© 1 (d 2 @ 1

GRS-S-IFDE/70A 16



42. The maximum value of

e [roelee)
sin|x+ = |+cos|x+—
6 6

in the interval [0, g] is attained at

T T
L B] =
(a) 12 (b) =
T b
Sis d s
© % @ 2
43. If K= sin[ij sin [—S—T—E] sin [FEJ , then
18 18 18
what is the value of K?
1 1
£ =
(a) 5 (b)
1 1
& ) =
fc) 3 (d) TG

sinc, + sinf
cosd +cosf

(a) tan (a L B)

(b) cot [“ ;’ B]
)

fc) sin (

{d) cos (a +B)

44. The expression is equal to

45, If sin® = 3sin(6 +20), then the value of
tan(® +a) +2 tana is equal to
(@) -1 (b) O

¢ 1 @ 2

GRS-S-FDE/70A 17

46. What is the value of tan 18°?

J5-1

10 +2J5

B =]

b —
= 10++/5

J10+2v5
R

10+4/5

(d) Bl

47. Let x, y, z be positive real numbers

such that x, y, z are in GP and tan x5

1

tan’ly and tan -z are in AP. Then

which one of the following is correct?
(a) x=y==z

(b) xz=1

(c) x#yand y=z

(d} x=yand y+z

48. If tan(x +P) =2 and tan(o -f) =1, then
tan(2o) is equal to

(g -3
(b) -2
1
(c) "3
{d) 1

[BURG.



49. Bys ABC % fau Fr=fafed © fomm Hifs -

. (B+ CJ (A)
1. sin|——|=cos|—
[ 2 2

2. tan[B‘Jr CJ=CDt[£)
2 2

3. sin(B+C)=cosA

4. tan(B+C)=-cotA
mﬁﬁﬁ%ﬁq-ﬁﬁ‘sﬁ?
(@ 13R3
(b) 132
(c) 134
(d 2 3R 3

50. Hfg secB—cosecG:% 7, @ (sin® —cos6)

foraer s 27

(@) e -2

(b) e L
2

M_zﬁ%ﬁ

M)qﬁ;qﬁHQ

51. afs forelt fiygst =1 ok i (1, 1) B =R 39 3
¥ B W Al IFT SRl % Hedfeg
(-1,2) 3 (3, 2) &, A Bisgs =1 s B0

o (3] ()

o () @)

GRS-S-FDE/70A
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52. T Ty, s wd A1, v3), B0, 0) 3R
C(2, 0) %, 1 F=d:hrg BT

B

(@) [1, =
J

J

(b)

oo“l b
G-

(c)

wlN
o[

@d |1,

(
(
[

5?‘_“,‘

53. It TH TR wgds F I wEvw o
(_2:_]}’ (1, 0)3:?“(4, 3)%,%%&5’1&%
Frdurie @ 27

(@ (1, 2)
(b) (1, 0)
(¢) (0, 0)

@ (1, -1)

54. 9d x2 +y? =r? 3R
x?+y?-10x+16=0 B fim forgali W
yirede i §, @ Frfaflan & @ #@-w
el 7

(a) 2<r<8
(b) r=23Ydr=28
(c) r<?2

@ r>2



49. Consider the following for triangle ABC:

s [B+C) (A)
1. sin| ——|=cos|—
. 2 2

2. tan(B'+c)=cot(é]
2 2

3. sin(B+C)=cosA
4, tan(B+C)=-cotA

Which of the above are correct?

(@@ 1 and 3
(b) 1 and 2
fc) 1 and 4

(d) 2 and 3

4

50. If secO-cosecH = 5 then what is

(sin® —cosB) equal to?

(a) -2 only

1
b) — onl
(b)  only
(c) Both -2 and%

(d) Neither % nor — 2

51. If a vertex of a triangle is (1, 1) and the
midpoints of two sides of the triangle
through this vertex are (-1, 2) and (3, 2),
then the centroid of the triangle is

@ (53w (1]

0@ @)

GRS-S-FDE/70A
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52. The incentre of the triangle with vertices
A(l, ¥/3), B(0, 0) and C(2, 0) is

o (2
o (3
o (59
o [

53. If the three consecutive vertices of a
parallelogram are (-2, —1), (1, 0) and
(4, 3), then what are the coordinates of
the fourth vertex?

(@ (1, 2)
() (1, 0)
© (0, 0)

(d (1, -1)
54. The 2

x? + y2 —10x+ 16 =0 intersect at two

distinct points. Then which one of the
following is correct?

two circles x? + y2 =r and

(o) 2<r<8
(b) r=2o0rr=28
fc) r<2

d r>2

[ P.T.O.



55. T 9, sl fog (3, —2) 3R (-2, 0) ¥ T

rar 8 aﬂiﬁﬂﬁﬁ,i@Qx—y—CS:OT{
fedra 2, 1 wHientor o1 87

(a) x2+y2+3x+2r—0
() x2+y?+3x+12y+2=0
(c) x2+y2+2x=0

d) #*4+y*=5

56. 3 forgall A(-2, -2) 3 BE, -4) F Sy

m?ﬁw%@ﬁﬁgc[—%,—%)%a
rgard # ffor o 87

(@ 1:3

(b) 3:4

(© 1:2

@ 2:3

57. T degd, fmeh A1 (2, O)HWZI%,

1 FHR -1 87

.

2
-+ Y

2
X
() 64 60

2 2
W Bl ]
60 64

(c) B e

f Eowd =7

GRS-S-FDE/70A

58. TH Hieft W1, W 2x+3y+1=0% GAR ¥ 9

forg (- 1, 2) & Bt STt B, o1 gl @ 7
(@ 2x+3y-4=0

(b) 2x+3y-5=0

() x+y-1=0

(d) 3x-2y+7=0

59. W& WAl & FTA 2x+4By=1 3N

JAx + By = 2 % e # = 27

(a) tan~! (2—%)

60. AR wk Bgsr, o1 (7, x), (y, - 6) 3R (9, 10) ¥

1 R, 1 BB (6,3) B, A x I y HEIA:
Toraer st 87

(a) 5, 2
(bl 2,5
c) 1,0

(d 0,0



55. What is the equation of the circle which
passes through the points (3, -2) and
(-2, 0) and having its centre on the line
2x-y-3=07?

(@ x?+y*>+3x+2=0
() x%+y®>+3x+12y+2=0
() x%2+y*>+2x=0

(d x?+y®>=5

56. What is the ratio in which the point
2 20

C[?, - 7) divides the line joining the
points A(-2, —2) and B(2, —4)?
fa) 1:3
{(b) 3:4
fc) 1:2
(d 2:3
57. What is the equation of the ellipse having

foci (£2, 0) and the eccentricity Zl?

x* Y
44L+.._.._.—

@ %" 60

B & =]

(c) LM S |

) = e
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58. What is the equation of the straight line
parallel to 2x+3y+1=0 and passes
through the point (-1, 2)?

fa) 2x+3y-4=0
(b) 2x+3y-5=0
fcj) x+y-1=0

(d) 3x-2y+7=0

59. What is the acute angle between the

pair of straight lines +/2x ++/3y =1 and
N3x +~2y=27?

o ()

J

(b) tan! [

S

{c) tan~! (3)

(d) tan ! [%)

60. If the centroid of a triangle formed by
(7, x), (y, —6) and (9, 10) is (6, 3), then
the values of x and y are respectively
@) S, 2
(b) 2,5

¢ 1,0

(d 0,0

[ P.T.O.



61. T e v, e g #eE (0, 1, 0) @
(a) x-31&1 % A B |
(b) y-¥1E F THIR T
(c) z-3& F THR ¢

(@) |t A& h AR TR g TS @

62. (0, 0, 0), (@, 0, 0), (0, b, 0) 3R (0, 0, c) AR
fafim gl 21 39 forg &1 Féamss, it 3 =
forgall @ whamm g W 3, @ 37

R 5

3" 78 3

a+b+c a+b+c a+b+c
(@)

——

&
s
wlQ
wls
Wi
R e

63. g P(3, 2, 4), QW“, 5,2, R(5, 8, 0) 3R
B, =1, B

(a) Q%Hﬂﬂ@ﬁﬂ,ﬁﬁ@aﬁqﬁ%,%ﬁﬁﬁ~
forg ®

(b) EHAAY &
() W@T

(d) wvaei B, fog e e B

GRS-S-FDE/70A

22

64. forgatt (1, 2, - 1) 3R (3, -1, 2) | TERA FTel
W, yz-vada ¥ Frefafea fogeti 4 9 fea

R frerdt 27

o (043

o (03

o (059
|

@ (053

65. F=fufaa 3 & -t = fufa % sl W@y
z=cy+d 3R x=ey+f;
z=gy+h@d g7

x=ay+b;

(a)
(b) ae+bf-1=0

ae+cg—1=0

(c) ae+cg+1=0

(d ag+ce+1=0

66. AR d=1-j+k, b=20+3j+2k K
—
C

14 j+nk?ﬁﬂﬁﬁ?ﬁqm% AR
= /6 &, A F=fafad # ¥ sH-w1 & w8l

ol
—Il

mp
X

(a) m=23Mn==+1
(b)) m=+23Mn=-1
(0 m=23Mn=-1

(d m=+23Rn=1



61. A straight line with direction cosines
(0, 1, 0) is

(a) parallel to x-axis

(b) parallel to y-axis

§o
s
~
o
s
@
=+
o

{d) equally inclined to all the axes

62. (0, 0, 0, (a, O, 0, (0, b, 0 and (0, O, c) are
four distinct points. What are the
coordinates of the point which is
equidistant from the four points?

a+b+c at+b+c a+b+e
()

g 5 v B

(b) (& b, c)
o
w559

63. The points P(3, 2, 4), Q@4, 5, 2), R(S, 8, Q)
and S(2, -1, 6) are

(a) vertices of a rhombus which is not
a square

(b) non-coplanar
(c) collinear

(d) coplanar but not collinear

GRS-S-FDE/70A 23

64. The line passing through the points

(1,2,-1) and (3, -1,2) meets the
yz-plane at which one of the following
points? '

o639
v (o)

o o33
@01

65. Under which one of the following

conditions are the lines x=ay+b;
z=cy+d and x=ey+f; z=gy+h
perpendicular?

(a) ae+cg—1=0

(b) ae+bf-1=0

(c) ae+cg+1=0

(d ag+ce+1=0

~

66. If g=i1-j+k, b=20+3j+2k and

=1+ m}' +nk are three coplanar
vectors and || = +/6, then which one of

the following is correct?
(@ m=2and n==+1
(b) m=+2 and n=-1
fc) m=2and n=-1

(d) m=t2and n=1

[ P.T.O.



67. WM Wive 76 ABCD w wwiek =gy ® Fres
foet P wftess st € aen "W wfifse f6 o

qafig 2, @ OA + OB + OC + OD The%
TR B7

(@) 20P
(b) 40P
(c) 60P
(d) 8oP

68. ABCD UT& =gy~ & W&l fa@&hvl AC 3R BD
?| frfafga # 9 #9-1 w6 9d 27

—_— = — —

(@ BA + CD = AC + DB
—_— = @ — —
(b) BA + CD = BD + CA
_— == —— —
(/) BA + CD = AC + BD

—_— — —

—
{d BA + CD = BC + AD

69. I dxb -¢ MM bxd=a 2, @ Fefifad
# ¥ HH-91 T gEl 27

@ @5 ¢ 3 A e ¥ sk
la
(b) @ b, ¢ TER FEETHNT

(c) & b, ¢ F# # wwwvim B, fEg

|=[&|qe |b| =1

GRS-S-FDE/70A

70. 3R G =2{+3j+4k 3 b = 37 +2} - Ak &
B, A A 1 HH 49187

(@ 2

(b) 3

(d) 5

X

71, Bim oK) pe o A
x—=0 x2

(@ O

(b)

M| =

(¢ 1

d 2

7. [2 de Torger set 27
0 1+cos6

1
{a) 5

(b) 1
(c) 3

(d) 39 H H IS TEl



67. Let ABCD be a parallelogram whose
diagonals intersect at P and let O be the

. — —_— — —
origin. What is OA + OB + OC + OD

equal to?
—
fa) 20P
—
{b) 40P
—
fc) 60P
-
{d) 80P

68. ABCD is a quadrilateral whose diagonals
are AC and BD. Which one of the
following is correct?

—_ — —

r—y
(@ BA + CD = AC + DB

o = e ey
() BA + CD = BD + CA
-} T} — o
¢/ BA + CD = AC + BD
) ¥ — m——
(d BA + CD = BC + AD

- T - L T 2
69. Ifaxb =c and b x ¢ = a, then which one
of the following is correct?

_ =
{a) @, b, ¢ are orthogonal in pairs and

|d|=|2| and |b|=1

= (R

(b) a’, b, ¢ are non-orthogonal to each

other
=% s . .
(c) d, b, ¢ are orthogonal in pairs but
|d|# €]

- =) . .
(d) d, b, ¢ are orthogonal in pairs but

-
|b|#1

GRS-S-FDE/70A 25

70. If @=2{+3j+4k and b =3 +2j-AKk
are perpendicular, then what is the
value of A?
fa) -2
(b) 3

(c) 4

(d 5

71. What is Jli_l;no L—x(;-i-_x] equal to?
(a) O
®
{c) | 1
(d) 2

72, What is _[05 l_ié equal to?
+cos

1
(a) 5
(b) 1
(c) 3

(d) None of the above

[ PT.O.



X e TR 7

x(x" +1)

73. j

{a) % In

x?
7

1
({dl =1n
7 x" +1

+C

74, X I Y & HAWM: T4 AFT % AT e

F:X Y, flx)=cosx g/ Fifea ¥, sl
x € X ¥, G 3R a6 aemt

(@ [0, m3M[-1, 1 °

(b) [5“ g}aﬂiu, 1

(c) [0, m 3R (-1, 1)
(d) [0, n) 3R [0, 1]

a9 e w37

75. AR flx) =2 8§, o

x-1

@ r(-=%]

a+1

(b) fl(a?)

o 1)

(d) f(-a)

GRS-S-FDE/70A
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e-1 x-1
76. (x +e* " )dx s 2
I %€ +e* %'

x2

(a) 7+c

(b) In(x+e+c

fc) In(x®+e*)+c

{d) s (x® +e¥)+c
e

77. 94 e B fFi[-6,6) >R 3B, S fh
flx)=x2 -3 g ffga 21 F=fafes w
ﬁﬁﬂ(ﬁﬁﬂl:

1. Lf°f°f)(41)=[f°f°f)(1)

% (e fefl-A~4lf s F)
=(f =N

IRE A | FH-/E 9 R/
(@) Fad 1

(b) A 2

(c) 1 3R 2 3Hf

(d @182

78. WH WIS 6 f(x) = px+q 3 g(x) =mx +n
2, @ f(g(x) = g(f(x) T gea 27

(@) f(p)=g(m)
(b) fla) =g
(c) fn)=gla)
(d) f(m)=g(p)



dx

73. What is I equal to?
x(x7 + 1)
D
(a) —1-ln x7 1 +e
2 x"+1
7
iy 2 Bt (g
T x!
%
x“ =1
c) In +c
() e
7
T . O
7 | x"+1
74. The function f:X—>Y defined by

f(x) = cosx, where x € X, is one-one and
onto if X and Y are respectively equal to

(@ [0, n] and [-1, ]

T

TT
(b) [~—2~, 5} and [-1, 1]

(c) [0, ] and (-1, ]
(d) [0, m] and [O, ]]
75. If f(x)=—x—, then what is Jia)

x-1 fla+1])
equal to?

@ f(-=2)

a+1

(b) fla?)

e

@ f(-9

GRS-S-FDE/T7T0A 27

e—1 + ex—l)dx
X

76. What is J (x equal to?

x€ +e
2

(a) %+c

(b) In(x+e+c

(c) In(x®+eX)+c

(d) S0 (x® +e*)+c
e

77. Let f:[-6,6]—>R be defined by
flx) = x?2 - 3. Consider the following :

L Fefel)-l= (Fef s )l

2. (FofeNED-4U oSN
=(f = N)O)

Which of the above is/are correct?

(@) 1 only
(b) 2 only
{(c) Both 1 and 2

(d) Neither 1 nor 2

78. Let f(x)= px+qg and g(x)=mx+n. Then
f(g(x) = g(f(x) is equivalent to

(@ f(p)=g(m)
(b) fla)=gln)
() f(n)=gla)
(@ f(m)=g(p)

[ P.T.O.



79. R F(x)=v9-x2 %, @ 81. HM whfsg

- . X, Hﬁxqﬁﬁ'ﬂ%
i =10 . L riR
firers s 27 ¥ b
g(x):{o' B
(6} —— X, W&l x Aufe §
42
IR F:RH-RIMg:RHRE, AW(f-g ¢
() = (@) THEH IR TR (IF-9 T8 7R)
° (b) 7 T THEN, T H AT=BEH
& i (c) TF-TH IR A=BEH
22 (d) T IR rESEE
(d) 5% 82. U ¥y Iaquel I s 1 8, ToEH e
fl(x) = 3sinx -4sin® x
I B7
go. 4°x forereh =T 87 (@) %
aly2
(b) =
2\l =3 2
o {2
dx dx 3n
{c) -é‘
-1
d?y) (dy\ 2 (d m
B [;,Tz] £
83. ¥R xdy = y(dx + ydy); y() =13 y(x) > 0
" [dzyj(dyj-s R, A y(- 3) foraeh U= &7
c | ——— e
dx? J\dx (@ 3
(b) 2
2 -1
(@ (d—;ﬂ lly
dx (d) ©

GRS-S-FDE/70A 28



79. If F(x) = \/9— x?, then what is

Fl)-F())
equal to?

@ -5

(b)

| =

e ——=

(4 —=

80. What is

d equal to?

GRS-S-FDE/70A 29

81. Let
f x, xisrational
X): T g
) 0, xisirrational
and
0, xisrational
g(x): . .
X, xisirrational

If f:R—->Rand g: R >R, then (f - g)is
{a) one-one and into

(b) neither one-one nor onto

{c) many-one and onto

(d) one-one and onto

82. What is the length of the longest interval
in which the function

flx)= 3sinx -4sin® x

is increasing?

(@)

wla

(b)

(c)

SPIRE

(d n
83. If xdy=yldx+ ydy); y(1) =1and y(x) > 0,
then what is y(-3) equal to?
fa) 3
(b) 2
(c) 1
(d) O

[ P.T.O.



84. FeM f(x)=4sin? x+1 W AHaH HAH
F1 27

(@) 5
(b) 3
(c) 2

(d 1

85. HM AT f(x), sin? x T Th AIEd GHTRa
2l

Frefafiad wam v fa=ar Hifs .

$¥d 1 :

W f(x) UgE BA ® fx +m) = f(x) F,
asfl aredfaess x % T

%Y 2

sin2(x+n) = sin? x 2, O+t IRl x &
fer|

st el % wed § Frefafaa § ¥ FR-a
TF e B e

(@) GFT HH HEl § R FUF 2, HUH 1 H
el Bl B

(b) 21w HE §, foheg FUA 2, FUA 1 H
el TRt e ®

(c) e 1 TE R, Toheg oM 2 7o @

(d) FUF 17 8, foheg oA 2 w81 @

GRS-S-FDE/7TO0A
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86. 3l GHIHLI
_ (dy)?  [(ax)?
o8
I ferft R ;fe (37ER) Foen: = €7
(@ 1,2
(b) 2,1

fc) 1,4

(d 4,1

87. q & faa ®:H W y2—2ay+x2 =a? H
A 3Tashe THERT H1 87

(@ (x*-2y*)p? -4pxy-x2=0
(b) (x* -2y*)p? +4pxy-x> =0
(¢) (x%+2y*)p? -4pxy-x*=0
(d) (x®+2y%)p? —4pxy+x*=0

&

Bl dy%
=—= gl
p

88. 3ashd WHIHW ydx —(x +2y%)dy=0

A9 Tl 1 27
(@ x=y?+cy
(b) x = 2cy2

(c) x=2y2 +cy

(d) 3% A | g T



84. What is the maximum value of the 86. What are the degree and order

function f(x)=4sin? x+1? respectively of the differential equation
: 2 5
o 3 (&) (&)
{b) 3 (@) 1,2
‘ ) 2 b) 2,1
; @ 1 (e} 1,4
(dl 4,1

85. Let f(x) be an indefinite integral of sin? x.

87. What is the differential equation

Consider the following statements : corresponding to y? —2ay+x2 =a? by
eliminating a?

Statement 1 : 4

(@ (x2-2y2)p2 —4pxy-x2=0
The function fix) satisfies ( yp e
+T) = fi 11 1.2%.

flx+m) = f(x) for all real x (b) (x2 -2y?)p2 +apxy-x2 =0
Stat g2 0

al€men (C} (x2 +2y2)p2 _4pxy_x2 = O

sin2(x+n) =sin? x for all real x. :
(d) (x?+2y%)p?% -4pxy+x2 =0
Which one of the following is correct in

respect of the above statements? _dy
where p = s

{a) Both the statements are true and
Statement 2 is the correct

. 88. What is the general solution of the
explanation of Statement 1

differential equation

2 -
(b) Both the statements are true but ydx —(x +2y~)dy =07
Statement 2 is not the correct
explanation of Statement 1 (@ x=y°+cy
(c) Statement 1 is true but (b) x =2cy?

Statement 2 is false

() x=2y°%+cy
(d) Statement 1 is false Dbut ;
Statement 2 is true (d) None of the above
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8. 7 Wfifm Wl x ok y I Tm 91. aqawwﬂwm[@]—a:omﬁw%?
Flet+ g =100 ST, A £(5) Frk TR 7 dx
[STE f(x), f(x) 1 SFahersl €]

fa) y=xe®+c

(@) f(5) 0

| (b) x=ye® +c
(b) f(5)-f(0 ;

(c) f(5 SO () y=Inx+c

(d) f(5)+f'(0) (d) x=Iny+c

92. AM #ifvg foh £(x) Fregar fuffa @

2x+l; —3x%<~-2
90. AR flx) IR glx), f(¥)=fla-x 3N fl={x-1, -2<x<0
gl +gla-x)=2 H HgE FA dA Hed x+2, 0z2x<l1
e €, A [ 0 gl dx e wu @7
304 e % ey # frafafead wu A @

H-HT W 87
(@ [ glxdx
(@) 8 x =—2 T JNEA &, Al Tedh A
forg W daa ®)
(b) [ flxdx
(b) F& FaE AW (- 3, — 2) H HdAd 2|
() 2 flx)dx () T x=0W dd &, S T
forg W waa B
(d) O (d) a8 YA forg W 16 2|
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89. Let f(x+ 1y = f(x) f(y) for all x and y. Then
what is f'(5) equal to [where f’(x)is the
derivative of f(x)]?

(@ 150
(b) f(5)-r0
(c) f(5)f(0)

(@ f5)+f0

90. If f(x) and g(x) are continuous
functions satisfying f(x)= fla—-x) and
gix)+gla-x)=2, then  what is

J'(‘: f(x) g{x)dx equal to?

(@ [ g(x)dx

(b) [} flx)ax

(c) 2 fladx

(d 0
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91. What is the solution of the differential
equation

ln[dyj—a=0?
dx

(@ y=xe® +c
(b) x=ye® +c
fc) y=Inx+c

(d x=lny+c

92. Let f(x) be defined as follows :

2xtl, =3 <=2
flx)=5 x-1, -2<x<0
x+2, 0<x<l1

Which one of the following statements is
correct in respect of the above function?

(a) It is discontinuous at x =-2 but
continuous at every other point.

(b) 1t is continuous only in the interval
(-3, - 2).

(¢) It is discontinuous at x=0 but
continuous at every other point.

(d) It is discontinuous at every point.

[ P.T.O.



93. Tmfafaa Fuat w famm fifvw :
1. AR lim f(x) 3N lim g(x) a1 famm

X—a

& @ lim (/) g} Fremm 21

2. AR lim {f()glx) Temm 2,

X=a

lim f(x) 3 lim g(x) ¥ @™

X—a

ERCIER
I Ul H H FA-E/H W B/87
(@) Fad 1
(b) HAA 2
c) 1 3R 2 M

(d) @182

94. Mefafad e A @ FH-AMTH AT AR, 7
& faum?

(a) x2 -1
(b) erg

X
fc) x|

(d) x?(x-3)
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95. log;, (5x2 + 3) FI x % W& Yesherst 1 87

x log,g e
5x2 +3

(@)

2xlogig e

(b)
5x2 +3

10x log,g €
5x2 +3

(c)

10x log, 10

(d)
5x2 +3

96. mﬁﬁqﬁsf(a):-g;l%l

+1

frfafas @ foem i

1. fRa)=fl@+1

2. £(3)-~r@

I | wH-E1/H 6 R/E7
(@ Fad 1

(b) A 2

(c) 13 23H

(d Fd LA 2



93. Consider the following statements :

1. If lim f(x) and lim g(x) both exist,
X—=a

X—=ra

then lim {f(x)g(x)} exists.
X—a

2. If lim {f(x)g(x)} exists, then both
xX—=a

lim f(x) and lim g(x) must exist.
xX—a xXxX—a

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
fc) Both 1 and 2

(d} Neither 1 nor 2

94. Which one of the following functions is
neither even nor odd?

@ x2-1

(b) x+§-
X

(c) |x|
(d) x?(x-3)
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95. What is the derivative of log,, (5x2 +3)

with respect to x?

(@ xlog,g e
5x2 +3
(b) 2xlogip e
5x% +3
(© 10x log;g €
. 5% +3
() 10x log, 10
5x2 +3
a—1

96. Let fla)=——.
a+1

Consider the following :

1. fla)=fl@+1

2. f(3)=~r@

a

Which of the above is/are correct?

(@) 1 only
(b) 2 only
(c). Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



97. a T aTal 99 % et (JAecria ) SHIG ST HeRe

el B w1 SAfeRan e T RY

(@ =2

b) =

f6) —

@ =~

98. mvﬁﬁqﬁsﬂx)zm%%,aﬁxe(o, ) §,

1 Frafafas § ¥ FR-m o T 2
(@) f(x), S H Feai-sed &
(b) fix), Faua § aduE 7

(c) fl(x), U | GREWH

(@) 3T A T P T

99. AM ST & weM f(x)=x", n# 0 TS x

% oy sEwerta B, @ o fFE I w1 A
I B HhdT 87

(@ [1, «)

(b) (0, =)
o (39

(d) 39 | 9 HIE T
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100. j:z,

dx Toras e 87

In x
X

(@)

N w

(b)

[ SR Rd)

) 3

(d) 4

101. 20 Y&O 1 T 5 B AR TAF Ve H 3 Y

Ton foRen g, A aRomd Qert w1 A gE
ER IR

fa) S
(b) 10
c) 15

(d) 45

102. 100 &l & T HYg H W 20 TH §A1|

T § U8 9 TR0 TR 9R Yavl e 9, e
21, 21, 18 3R 20 < frar w0 oM AR
Terd VUil h1 B T ST, @ WA F1 RY

(@) 18
(b) 20
e 21

(d 22



97. What is the maximum area of a triangle
that can be inscribed in a circle of

radius a?_
(@) §22_
] (b) _6_!;
t (c) i@gi
4
(d) ‘/54“2

98. Let f(x)=x+i, where xe€ (0, 1. Then
X

which one of the following is correct?
(a) f(x) fluctuates in the interval
(b) f(x) increases in the interval

i (c) f(x) decreases in the interval

{d) None of the above

n

99. Suppose the function f(x)=x", n# 0 is

differentiable for all x. Then n can be
any element of the interval

(@) [1, =)

(b) (0, =)

o (b

(d) None of the above
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2
100. What is [*, ln—x’cbc equal to?
€ X
3
(@) 2
5
b i
(b) )
() 3
(d) 4

101. The variance of 20 observations is 5. If

each observation is multiplied by 3,
then what is the new variance of the
resulting observations?

(@ S

(b) 10

fc) 15

(d) 45

102. The mean of a group of 100 observations

was found to be 20. Later it was found
that four observations were incorrect,
which were recorded as 21, 21, 18 and
20. What is the mean if the incorrect
observations are omitted?

(a) 18

(b) 20

(c) 21

(d) 22

[ P.T.O.



103. < geul @ik &1 Afgenet § A ) AR B T 106. 3 @ weAredl A 3R B & fog =g fean mn

Al a=E s B o wikesar @ T wfufa # 2 % Pa)=0.2 3 PB)=0.5 2 3R
EE RISk Ac B?, @ gufesy mReaisdt P(A|B) 3R
1 P (B|A) % | %HY: F1 27
@ 3 2 3
| @55
1
(b) = ‘
3 2
(b) 5’ 1
© - 2
2 (¢ 1, 5
@ = (@) T A

. Tt 99 & < |
104. &= frenfil A, B sk ¢ #1 Tk W far @ L0 T & TR T g Twfok =9 4 I

: Sl ® 1 @ Wil @ f6 o foeg 3@ 9@ A
S St W S SRR e i <R e e R ¥ orfer wfa A7
= .%a?ﬂg%ﬂwmﬁw%%ww%a‘eﬁ

2 @ +
SN 5
1
@ o v 2
1
® © 3
1
3 (d) 5
(c) v
iy == 108. M 4y-15x+410=0 afit
24

30x - 2y- 825 =0 S (x) 3R ¥R (y) &
= A TR Y ¥, @ $EE S 9R F
105. Tt e & 150 FenféfEt &1 mea a5 60 kg < TEgrEry T w1 R

2| e ¥ ASH H HIL I9F 70 kg B R @ 1
TSI 1 55 kg €1 HET T TSHI ol HE&AT 3

fopat 87
: ©

(@) 50
(b) 55 © 2
) e

(c) 60
i =
(d) 100 4
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103. A committee of two persons is constituted 106. For two dependent events A and B, it is
from two men and two women. What is given that P(A)=0-2 and P(B)=0-5. If
the probability that the committee will AcC B, then the values of conditional
have only women? probabilities P(A|B) and P(B|A) are

respectively
(a) : 2 3
6 s
1 (@) . B
B} = 2
3 b) =, 1
(b) =
1
el = 2
c) 1, =
2 (c) =
(d) % (d) Information is insufficient

107. A point is chosen at random inside a

104. A ti i i th tudents A
0 e e b s e e circle. What is the probability that the

B and C whose chances of solving it are

1 1 1 _ ) point is closer to the centre of the circle
5 3 and i respectively. What is the than to its boundary?
probability that the question will be (@) €
solved? ' 5
! ) =
a ot
@ o4 4
1
1 =
(b) 5 (c) 5
1
8 @ -
C o
€ 3 2
(d) 23 108. If two regression lines between height (x)
24 and weight (y)are4y- 15x+410=0and
30x -2y—-825=0, then what will be
105. The mean weight of 150 students in a the correlation coefficient between
certain class is 60 kg. The mean weight height and weight?
of boys in the class is 70 kg and that of 1
girls is 55 kg. What is the number of (a) 3
boys in the class?
1
@ 50 S
2
(b) 55 © 2
3
60
(c) # 3
(d) 100 <
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109. frdt wlem & 40% =il 3 ficfrm aof wmw 112. 9 v gferd &9 9 stamfig &, 1 frfeiad

#| g fHEl B T gAR@ (W T6) H e wreal d A FH-T1 % el 27
Frefa foran man 2, @ Tl Aoft & W@ =

1 T w27 (a) 2 x 9% fo=@d = 5 x efrad fo=em
(@) 4 (b) 90° . (b) 5 x THF fo=ed = 2 x Iwa fa=eH
(c) 144° (@ 320° | (c) 4 xTFF Reem = 5 x siaq freed

(d) 5 xW"HH fa=ge = 4 x e fo=em
110. Frafifaa s ® fer AR

— 113. Frafafaa 9 @ fre &9 9 39 =1 wegd foman s
 Hehdl 87
T, YRET0 %1 T ST 7Y T 8 P —a—
YT 2 : 2. HRUieRg &9
W, W A % oG ¥ 9ga oIk 3. e w
STy B 2 +Frt feu T e 1w R EE) IR g
Sug Al & e # frfafea # @ wE-m (@ @1 %2
S hee 2 3R
(@ F 1 3R FH 2 JAT FW T IR e 2ens
HYF 2, FHYF 1 1 e WEHU 7 (c) Faa 1 33
(b) F 1 IR FoH 2 AT WA &, AR (d) 1,2 3R 3

HT 2, HYA 1 1 T THEHT A& B

(c) wU 1 FE ¥, AT FoF 2 T T R T AT T =Y 3
(d) o 2 TE §, AfRT HUYA 1 7o B ¥ Tore 3R egg ¥ Al % fo o di
M R AR A A R R P, A
forg P 1 9, e wgit % f mdi A @

111. 3731 @& ¥ Hd T 52 Ui hl YR AT hH HF-11 T T 27
ww e H ¥ u uw Feprern S R 3 9 A
w1 WTRreRdT & 5 o% ge R7 (a) e
1 2 ¢
@ 75 B L
(c) g
3 1
€ == @ = () TR HieA
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109. In an examination, 40% of candidates
got second class. When the data are
represented by a pie chart, what is the
angle corresponding to second class?

(@) 40° (b) 90°

(c) 144° (d) 320°

110. Consider the following statements :
Statement 1 :

Range is not a good measure of
dispersion.

Statement 2 :

Range is highly affected by the
existence of extreme values.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement 1 and Statement 2
are correct and Statement 2 is the
correct explanation of Statement 1

(b) Both Statement 1 and Statement 2

are correct but Statement 2 is

' not the correct explanation of
Statement 1

! (c) Statement 1 is correct but
Statement 2 is not correct

(d) Statement 2 is correct but
Statement 1 is not correct

111. A card is drawn from a well-shuffled
ordinary deck of 52 cards. What is the
probability that it is an ace?

1 2
@ o Bl 5=

3 1
@ = & =

GRS-S-FDE/T70A

112. If the data are moderately non-
* symmetrical, then which one of the
following empirical relationships is
correct?

(@) 2 x Standard deviation
= 5 x Mean deviation

(b) 5 x Standard deviation
= 2 x Mean deviation

(c) 4 x Standard deviation
= 5 x Mean deviation

(d) 5 x Standard deviation
= 4 x Mean deviation

113. Data can be represented in which of the
following forms?

1. Textual form
2. Tabular form
3. Graphical form

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
¢/ 1 and 3 only
(d 1,2 and 3

114. For given statistical data, the graphs for
less than ogive and more than ogive are
drawn. If the point at which the two
curves intersect is P, then abscissa of
point P gives the value of which one
of the following measures of central

tendency?
fa) Median
(b) Mean
(¢) Mode

(d) Geometric mean

[ P.T.O.



115. Tefefiad suei w fEr fif 118, 3t 41 3@ 9@ HF A ¥, D F=w wilkwa ?

1. A e IREaRE w9 @ eaRia £, AR fop ArmRa 9 1 8 7, T € 97
T HeAT 1 Hid g1, g HeAT % Hfed 1
B 1 Jehall 21 @ 5
2. T URWNE €Y § AERiG Heds % .
e fl wifiedr, R gus Lo/
TRt & TN % S B
3
IR FUA A W BA-E1/S /R @ =z
(a) Had 1 5
(@ —
(b) HIA 2 6
(c) 1 3R 2 g1
(d 1,782 119. #H <ifSg f% A R B < Rl swafsig

gAY 8, el P(A)zé R P(B)=% Bl
116. I x F y W A y FH x T THIR UM

P(A ~B) % 9H #1 87
HH: —%afr(—%%,?ﬁxsfny%a"fa

HEHY T A 7 | Y é
@ -1 B - ® 5
@ @ 5 © 5
117. 5 Y&l % U Wiiel &1 Wes 32 A wie (@) 155

33 31 98 A ¥ I T 6w Ve erdi §
35 % M W 40 & X o mar o1 afe &
aq @l di% *id 8, 9 Tefafad 7 9 sE-a1 120. TrHt fgug svea 1 A1eg 3R oA foees s

qel 27 12 3R 2 2| AP (qheen) foge
(@) e SR TS 9 T W B
(b) Wik & @t ¥, fhg W wwW oA (@) 2

b (b) 12

(c) TEg R HiSeR 41 %9 8 S 8

(d) WA @ war g, fohg wigE w8 @
EIGifs (d) 24

(c) 18
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115. Consider the following statements : 118. If two fair dice are thrown, then what is

1. Two events are mutually exclusive the probability that the sum is neither 8

if the occurrence of one event nor 9?
prevents the occurrence of the 1
other. (a) 6
2. The probability of the union of two
mutually exclusive events is the (b) i
sum of their individual 4
probabilities.
3
Which of the above statements is/are (c) A
correct?
a) 1 onl S
(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2 119. Let A and B are two mutually exclusive

events with P (A) = é and P(B) = Zl What
116. If the regression foefﬁcierlﬁ of x on y o A e o P(A ~B)
and y on x are =5 and g respectively,

1
then what is the correlation coefficient (@ —
between x and y?

1 1 1
a) --— b) —— b) —
(@) P (b) 16 (b) a
1 1
c) — d) —
(© 16 @ 4 (c) 0
3
117. A sample of 5 observations has mean 32 5
and median 33. Later it is found that an (d) T

observation was recorded incorrectly as
40 instead of 35. If we correct the data,

then which one of the following is 120. The mean and standard deviation of a

correct?

fa) The mean and median remain the
same

(b) The median remains the same but
the mean will decrease

() The mean and median both will
decrease

(d) The mean remains the same but
median will decrease
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binomial distribution are 12 and 2
respectively. What is the number of
trials?

(a) 2
(b) 1
(c) 18
(d) 24

[ P.T.O.
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